Cause & Effect Essay

Elements of the Lecture

fWhat's Cause & Effect Essay

.Types of Cause & Effect Essay Organizations
a. Block Organization

b. Chain Organization

fWhat is a Cause and Effect Essay

A Cause and Effect Essay provides reasons and *
.explanations for events, conditions, or behaviors

It involves tracing probable or known effects of a *
certain cause or examining one or more effects and
.(discussing the reasonable or known cause(s

Intro : Cause and Effect

.Cause and Effect analyzes why something happens *
.Some effects are caused by multiple causes *

.Some causes, in turn, can result in multiple effects
.Every event has a cause and every cause has a result

Hint: Cause and Effect

In this unit, you will look at the situation (effect) *
.and examine the reasons (causes) for it
Usually there are more than one reason for the *
.situation

When there are many reasons, there is usually
.one thatis most important

Remember

Remember the following points when you write about the
:causes of an effect

.Look at the possible causes and discuss them

.Support all the causes. Give good examples

State your most important cause list. This will make your
.essay more interesting
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Understanding the Assignment
Cause and Effect Essay assignments typically use *
:the following language
"*What are the causes of X"
"*What led to X"
"*Why did X occur”
"*Why does X happen"
"*What would be the effects of X"

Define recession and discuss the probable effects a
recession would have on American society.

Transitions

* Transitions for showing cause: because and as
Because and as introduce a reason clause.
They both answer the question “why?” Both
because and as can by used at the beginning

of the sentence or in the middle.

* Use a comma after the reason if you start the
sentence with because and as.

Two Ways of Organization:

* There are two ways to organize a cause-and-effect
essay: block organization and chain organization.

* Some topics work better when organized in block,
while others work better when organized in a chain.
If the causes and effects are closely related, itid s
better to use a chain organization.

First Type:
Block organization

You discuss all of the causes in one block (one,

two or three paragraphs, depending on the n umber
of causes). Then you discuss all the effects in another
block.
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Cause-and-Effect Structure Words

Cause structure words:

the first reason is, the next cause, because
Effect structure words:

the first effect, as a result, consequently
Note: use a semicolon before and a comma
after consequently and therefore.

Transition Paragraph

In block organization, a short paragraph often separates
one major section from another major section. This
paragraph is called a transition paragraph. Its purpose
is to conclude one section and introduce another
section. You do not always have to write a transition
paragraph, but it is helpful when your topic is long and
complex. For example, an essay about global warming
might include several paragraphs about the causes and
several paragraphs about the effects, with a transition
paragraph between the two blocks. Essays that discuss
mainly (or only) causes or mainly (or only) effects
might have a transition paragraph between blocks of
different kinds of causes or between blocks of different
kinds of effects. For example, you might use a
transition paragraph to separate the personal effects of
our increased life expectancy from its many effects on
the economy.
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Shyness
1 If you suffer from shyness, you are not alone, for shyness is a universal
phenomenon.' According to recent research, “close to 50 percent of the general
population report that they currently experience some degree of shyness in their
lives. In addition, close to 80 percent of people report having felt shy at some
point in their lives” (Payne, par. 3).? As shyness is so prevalent in the world, it is
not surprising that social scientists are learning more about its causes. They
have found that shyness in an individual can result from both biological and
environmental factors.
2 Recent research reveals that some individuals are genetically predisposed
to® shyness. In other words, some people are born shy. Researchers say that
between 15 and 20 percent of newborn babies show signs of shyness: they are
quieter and more vigilant. Researchers have identified physiological differences
between sociable and shy babies that show up as early as two months. In one
study, two-month-olds who were later identified as shy children reacted with
signs of stress to stimuli such as moving mobiles® and tape recordings of
human voices: increased heart rates, jerky movements of arms and legs, and
excessive crying. Further evidence of the genetic basis of shyness is the fact
that parents and grandparents of shy children more often say that they were shy
as children than parents and grandparents of non-shy children (Henderson and
Zimbardo 6).°
3 However, environment can, at least in some cases, triumph over biology.
A shy child may lose much of his or her shyness. On the other hand, many
people who were not shy as children become shy as adults, a fact that points
to environmental or experiential causes.
a The first environmental cause of shyness may be a child’s home and family
life. Children who grew up with a difficult relationship with parents or a dominating
older sibling are more likely to be inhibited® in social interactions. Another factor is
the fact that today’s children are growing up in smaller and smaller families, with
fewer and fewer relatives living nearby. Growing up in single-parent homes or in
homes in which both parents work full time, children may not have the socializing
experience of frequent visits by neighbors and friends. Because of their lack of
social skills, they may begin to feel socially inhibited, or shy, when they start
school (7).
s A second environmental cause of shyness in an individual may be one’s
culture. In a large study conducted in several nations, 40 percent of participants
in the United States rated themselves as shy, compared to 57 percent in Japan
and 55 percent in Taiwan. Of the countries participating in the study, the lowest
percentage of shyness was found in Israel, where the rate was 31 percent.

Researchers Henderson and Zimbardo say, “One explanation of the cultural
difference between Japanese and lIsraelis lies in the way each culture deals with
attributing credit for success and blame for failure. In Japan, an individual’s
performance success is credited externally to parents, grandparents, teachers,
coaches, and others, while failure is entirely blamed on the person.” Therefore,
Japanese learn not to take risks in public and rely instead on group-shared
decisions. “In Israel, the situation is entirely reversed,” according to Henderson
and Zimbardo. “Failure is externally attributed to parents, teachers, coaches,
friends, anti-Semitism, and other sources, while all performance success is
credited to the individual’s enterprise.” The consequence is that Israelis are free
to take risks since there is nothing to lose by trying and everything to gain (10).
e In addition to family and culture, technology may play a role as well. In the
United States, the number of young people who report being shy has risen from
40 percent to 50 percent in recent years (10). The rising numbers of shy young
people may be “due in part to the growing dependence on non-human forms of
communication, coming about as a result of our huge advances in technology”
(Payne, par. 4). Watching television, playing video games, and surfing the Web
have displaced recreational activities that involve social interaction for many
young people. Adults, too, are becoming more isolated as a result of technology.
Face-to-face interactions with bank tellers, gas station attendants, and store
clerks are no longer necessary because people can use machines to do their
banking, fill their gas tanks, and order merchandise. College students take
online telecourses. Telecommuters work at home, giving up daily contact with
coworkers. Everyone texts, e-mails, and converses anonymously’ in online chat
rooms. As a result, people have less opportunity to socialize in person, become
increasingly awkward at it, and eventually start avoiding it altogether. In short,
they become shy.

x While being shy has some negative consequences, it has positive aspects,
too. For one thing, it has been mentioned that shy people are good listeners
(““Shyness”).® Furthermore, a university professor writing about his own shyness
says, “Because of their tendency toward self-criticism, shy people are often high
achievers, and not just in solitary activities like research and writing. Perhaps
even more than the drive toward independent achievement, shy people long to
make connections to others, often through altruistic® behavior” (Benton).'?

s To sum up, shyness has both genetic and environmental causes. Some
people come into the world shy, while others become shy as a result of their
experiences in life. It appears that most people have experienced shyness at
some time in their lives, and recent research indicates that the number of shy
people is increasing. Therefore, if you are shy, you have lots of company.
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Writing Technique Questions

1. Is the topic of this essay primarily the causes or the effects of shyness?
» It discusses mainly the causes of shyness.

2. Which paragraph(s) discuss(es) the causes?

» Paragraph 2, 4,5, and 6

3. Which paragraph(s) discuss(es) the effects?

» Paragraph 7

4. What two subtopics are named in the thesis statement?

» biological and (2) environmental factors.

5. Which paragraph(s) discuss(es) the first subtopic?

» Paragraph 2

6. Which paragraph(s) discuss(es) the second subtopic?

» Paragraphs 4, 5, and 6

7. What is the function of paragraph 3?

» Paragraph 3 is a transition paragraph. It divides the biological from the
environmental causes

8. Which pattern (A, B, C, or D) does the model follow?

> Pattern B
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Second Type:
# Chain organization
You discuss a first cause and then the effect, a second cause and its effect, a third

cause and its effect, and so on.
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r Itroduchon J How Fertile Land Becomes Desert

Cause People move into new areas and clear land for agriculture by cutting down trees.

Effect The tree roots no longer hold the soil in place.

Catse The tree roots do not hold the soil in place.

Effect The topsoil washes away during heavy rains.

Cause The topsoil washes away during heavy rains.

Effect There is no good soil to grow crops in.

Catse There is no good soil to grow crops in.

Effect People move to new areas and clear land for agriculture by cutting down trees.
Conclusion j
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The following short essay describes a simple chain reaction.

SAD
1 Years ago, medical researchers identified a psychological disorder that
they appropriately named Seasonal Affective Disorder, or SAD. People who
suffer from SAD become very depressed during the winter months. Doctors now
understand the causes of this condition, which affects millions of people,
particularly in areas of the far north where winter nights are long and the hours
of daylight are few.
2 SAD results from a decrease in the amount of sunlight sufferers receive.
Doctors know that decreased sunlight increases the production of melatonin,
a sleep-related hormone that is produced at increased levels in the dark.
Therefore, when the days are shorter and darker, the production of this
hormone increases. Shorter, darker days also decrease production of seratonin,
a chemical that helps transmit nerve impulses. Lack of seratonin is known to
be a cause of depression (“Seasonal” HH, par. 1).! Depression may result from
the resulting imbalance of these two substances in the body. Also, doctors
believe that a decrease in the amount of sunlight the body receives may cause
a disturbance in the body’s natural clock (“Seasonal” NMHA, par. 2).> Doctors
believe that the combination of chemical imbalance and biological clock
disturbance results in symptoms such as lethargy,’ oversleeping, weight gain,
anxiety, and irritability—all signs of depression.
3 Since absence of light seems to be the cause of this disorder, a daily
dose of light appears to be the cure. Doctors advise patients to sit in front
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of a special light box that simulates' natural light for a few hours every day.

An hour’s walk outside in winter sunlight may also help (par. 4).

4 In conclusion, the depressive effect of low sunlight levels may help explain
the high suicide rate in the Scandinavian countries; more important, it may
suggest a remedy: When the days grow short, turn on the lights.

Writing Technique Questions
1. Which paragraph contains the chain of causes and effects?
2. What is the effect of decreased sunlight in winter?

3. What other change results from a decrease in the amount of sunlight?
4. What is the final result?

Writing Technique Questions

1. Which paragraph contains the chain of causes and effects?

» Paragraph 2 |

2. What is the effect of decreased sunlight in winter?

» Chemical imbalance.

3. What other change results from a decrease in the amount of sunlight?

» Disturbance in the body’s natural clock.

4. What is the final result?

» Lethargy, oversleeping, weight gain, anxiety, and irritability — all signs of

depression
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Comparison and Contrast Essay

Introduction to Academic Writing 2: Comparison and
Contrast Essays

What are Comparison and Contrast Essays?

Comparing things is something we do every day when we
have to make decisions. For example, you might think of
similarities or differences when we are buying a new MP3
player or choosing a place to study English.

You may need to evaluate two sides of an issue you have
studied in a class or two proposals for research or projects
at your workplace. In these cases, you will need to write an
essay or report to discuss your ideas about the topic. This is
a comparison and contrast essay.

Comparison/Contrast Essay Organization

Like other types of essays, a comparison and contrast essay
must have a clear introduction and conclusion.

The body of the essay can be organized many ways. We will
look at two organizational styles.

Point by point organization

Block organization

The Introduction

For both types of organization, the introduction is the
same.

Presents the topic or subject that is being compared and
contrasted in the topic sentence.

Gives some general information about the topic

Ends with a thesis statement that tells the reader
specifically what will be compared and contrasted.
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Point by Point Organization

The body paragraphs alternate between similarities and
.differences

In a short essay, one body paragraph will explain the
similarities between the two subjects and one paragraph
.will explain the differences

In a longer essay, one paragraph will explain similarities
between one main idea in the two subjects and one
paragraph will deal with differences in the same main idea,
.and so on

Short Essay Organization
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Longer Essay Organization

=
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Similarity #1
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Difference #2—>L ?
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Difference #1

Similarity #2

Conclusion
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Block Organization
In block organization, the body paragraphs first present the

similarities in the two subjects. Then, in separate
.paragraphs, the differences are presented

For the short essay, the organization is similar to Point by
.Point Organization
For the longer essay, the body paragraphs first present the

similarities as a set then, after a transition, present the
.differences as a separate set

Short Essay Organization

uctlon

Long Essay Organization

Introduction
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The Conclusion

For both types of comparison and contrast essay, the
.conclusion is the same

Restate the topic

Restate or summarize the similarities and differences
between the two topics

Give your opinion or feeling about the topic make a
prediction, or explain the results

Let’s look at some sample essays
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Writing Technique Questions

1. In which paragraph(s) are the similarities discussed? In which paragraph(s)
are the differences discussed?

» Similarities are discussed in paragraphs 5, 6, and 7.

» Differences are discussed in paragraph 2 and 3.

2. What is the function of paragraph 4?

» Itis atransition paragraph introducing the second half of the essay.

A Short Essay
Point by Point or Block Organization

The Introduction i

opinion about the
topic
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ere are many reasons why New York seems like

/ y home away from home, Both cities are striking

and distinctive. Faf example) each has its own— )
)-7-:‘.*_" =\Velrve - ) IV $E 4 .s“ﬂe :J
Apple.” Quetzaitenango is known as “Xela” ‘
(pronounced (shey-la), which is a lot easier to sz
Second, both cities have a “Central Park™ where

=emeesot | people like to go and walk. Although Central Park is
between the Xela is smaller, its tropical flowers and colonial
two cities architecture mean it is just as beautiful as New

rpen w = | York's. Furthermore, when you walk around Xela.
two cities you find many tourists and people from other
|coruvetsﬂ'us’n)(elaaehstasiﬁ&ﬁugas

a conversations in New York.

Life in Xela 1s more colorful and the pace s
slower. For this reason, whenever | return to Xela,
is like an escape. When | arrive, the first thing |
notice is the color. In New York, many people wear
pectic =xampies \ DI2Ck to be stylish. but in Xela stylish clothing is the
of the diferences  /rainbow-colored clothing of the indigenous people.
And because Xela is smaller, the beautiful green
second thing | notice is the pace of life. /
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Comparison Signal Words

Transition Words and Phrases
similarly Human workers can detect malfunctions in machinery; similarly/likewise,
likewise a robot can be programmed to detect equipment malfunctions.
also Human workers can detect malfunctions in machinery; a robot Can also.
too Human workers can detect malfunctions in machinery; a robot can too.
Subordinators
as Robots can detect malfunctions in machinery, as/just as human workers can.
just as

Note: Use a cormma when as and jisst as show comparison even when the depenaent
clause follows the independent clause as in the above example.

Comparison Signal Words (continued)

Coordinators

and
both...and
not only .. . but also

neither. .. nor

Robots and human workers can detect malfunctions in machinery.
Both robots and human workers can detect malfunctions in machinery.
Not only robots but also human workers can detect malfunctions in machinery.

Neither robots nor human workers are infallible. !

Others

like (+ noun) «
just like (+ noun)
similar to (+ noun)

(be) like

(be) similar (to)
(be) the same as
(be) the same
(be) alike

(be) similar

to compare (to/with)

Robots, like/just like/similar to human workers, can detect malfunctions in machinery.

Robots are like/are similar to/are the same as human workers in their ability to detect
malfunctions in machinery.

In their ability to detect malfunctions in machinery, robots and human workers
are the same.

Robots and human workers are alike/are similar in their ability to detect malfunctions
in machinery.

Robots can be compared to/be compared with human workers in their ability to detect
malfunctions in machinery.
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Contrast
Signal Wards

Contrast signal words fall into two main groups according to their meaning. The
words in the first group show a relationship that is called concession. The words in
the second group show an opposition relationship.

Contrast Signal Words: Concession (Unexpected Result)

Concession signal words indicate that the information in one clause is not the result
you expect from the information given in the other clause.

UNEXPECTED RESU

Although | studied all night, | failed the exam.

My failing the exam is not the result you might expect from the information in the
first clause: / studied all night.

Look at both Contrast Clauses and Concession Clauses on pages 222-223 for
additional examples of contrast subordinators.

Transition Words and Phrases

however
nevertheless
nonetheless

Millions of people go on diets every year; however/nevertheless/
nonetheless/still, very few succeed in losing weight.

still

Subordinators
although Although/Even though/Though most dieters initially lose a few pounds,
even though most gain them back again within a few weeks.
though

Coordinators
but Doctors say that “fad” diets do not work, but/yet many people still try them.
yet

Others

despite (+ noun)
in spite of (+ noun)

Despite/In spite of 10 years of dieting, | am still fat.

Contrast Signal Words: Direct Opposition

The second group of contrast signal words shows that two things are direct opposites.
With direct opposites, the signal word can introduce either piece of information.

I am short, whereas my brother is tall. orR My brother is tall, whereas | am short.

Transition Words and Phrases

however

in contrast

in (by) comparison
on the other hand

on the contrary

Rock music is primarily the music of white performers; however/
in contrast/in comparison/by comparison/on the other hand, jazz is performed
by both white and black musicians.

Jazz is not just one style of music; on the contrary, jazz has many styles such as Chicago
jazz, Dixieland, ragtime, swing, bebop, and cool jazz, to name just a few.

Note: On the contrary contrasts a truth and an untruth.

Subordinators
while New Orleans-style jazz features brass marching-band instruments, while/whereas ragtime
whereas is played on a piano.
Note: Use a comma with while and whereas even when the dependent clause follows the
independent clause.
Coordinators
but Jazz music was born in the southern part of the United States, but it now enjoys

a worldwide audience.

Others

differ (from)
compared (to/with)

(be) different (from)
(be) dissimilar to

Present-day rock music differs from early rock music in several ways.
Present-day rock music has a harder sound compared to/compared with early rock.
The punk, rap, grunge, and techno styles of today are very different from/

dissimilar to/unlike the rock music performed by Elvis Presley 50 years ago,
but they have the same roots.

(be) unlike Unlike rock, a music style started by white musicians, rhythm-and-blues styles were
influenced primarily by black musicians.
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Types of Clause Independent & Dependent
and then
Types of Sentences -

Independent Clauses

An independent clause contains a subject and a verb and
expresses a complete thought. It can stand alone as a
sentence by itself. An independent clause is formed with
.a subject and a verb and often a complement

Dependent Clauses

A dependent clause

A dependent clause does not express a complete thought, so
it is not a sentence by itself.

A dependent clause is also called a sentence fragment. By
itself, it is an incomplete sentence, and it is an error. A
dependent clause is formed with a subordinator, a subject,
and a verb

Subordinators
after before that when which
although even though though whenever while
as, just as how unless where who
asif if until wherever whom
as 5000 as sice what whether whose
because 50 that

AxulLl) DJ.BM\

Sl p& g Aliiaall b i g1 gl
~
Jaall 14 -

subject and verb &) s 43 058 Y clause !

Independent s Jelill g Jadl) (5 giad Al Jaal) LliaY
Dependent (i Jad¥ g JadY (5 giay Al Jaadlg

Adta o 88
S () (e AL SE G g ol e o g giag SR b
Lo L g (Jadll g (Jnd o Jiua Ja i (LSS oy ATID 3n B aSaS Lhan g
Shala 98

Subject + Verb (+ complement

Addieea gaall
RO R Levic Jlal) g LS subordinator 14n Aliius i) A

A a8 ke e G 4SS Y (ALalS SAY (et Y Al ) A
Alals e Alay (pad A30d 3a B Alaad) pja il il Ll e
s Jadlly (Jeldl csubordinator ge Aaiat dlaa ¢y g<i Und ga 4l g

Subordinators + subject + verb (+ complement)

subordinator asd (A9 JEiua il gaa slay Al Claldl) o3y

4l saclall c;\éj

Subordinators + subject + verb (+ complement)
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Adding Variety to Sentence Structure

To make your writing more interesting, you should try to
vary your sentences in terms of length and structure. You
can make some of your sentences long and others short.
Read the two paragraphs on the next page.

Read the paragraphs below. Choose the
paragraph that is more effective.

1# I love living in the city. | have a wonderful view of the
entire city. | have an apartment. | can see the Golden Gate
Bridge. I can see many cargo ships pass under the bridge
each day. | like the restaurants in San Francisco. I can find
wonderful food from just about every country. I don’t like
the traffic in the city.

2# | love living in the city of San Francisco. | have a
wonderful view of the entire city from my apartment
window. In addition, | can see the Golden Gate Bridge
under which many cargo ships pass each day. | also like
San Francisco because | can find wonderful restaurants
with food from just about every country; however, | don’t
like the traffic in the city.

How do you vary sentence structure?

You will want to use a variety of sentence structures in
your writing. There are three types of sentences we will
study in this lesson:

- Simple Sentence

- Compound Sentence
- Complex Sentence

The Simple Sentence

A simple sentence has one/independent clauseone subject

and a verb):

¥

Aaal) 43y ) Ao siia Uipiaa

Eun on dllay ST o Jglad o e pbaASU 58] ST LSS Juad
Lomall) W g Ay gl oS id Jaadl (e gty Jra dliSay Auill g Jshal)
A Aadal) b oy R4 Bp) B

Allad S 4 Al B RRN LAR) Uil Ba ) gl < Y Be) B

@ Lelash Absall i) e o) Adsal) A ¢ gdim Gl G U
Gl (o Bad) (gl o ol Aa ) A ) s sl ) ki AR
_M\ﬁdugéeswigﬂm_P#JSJ@\MJJJ.?MM\

2 sl A e aa) Y L3S e Jash ) (e adl ) aladall aa o ¢S
Adgaal)

padind g o yal g ddasny Jan hath Ua Badl
Subject + Verb (+ complement

G s | Semad] B G Adgaa (b ¢ gdiry () qal U # Y
s sl ¢ gl clld ) ABLGYL g G B G Lglasly Abaall
s L) 291 a9 IS ) Ghew (pa ptad) g 5l Ll (B A Bl 4y 50l
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] »'.'u. *&’ .S,q..c‘s

falaal) pliy Calids (i

AU 8 Aaad) JSbgd) e de it de gana pladind L) Zliad G g
HEVET BT WEVETHMATEN IV W L LRI R
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48 0 e -
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Compound Sentence

A compound sentence contains two independent clauses

that are joined together.

You can make a compound sentence by joining two
logically related independent clauses by using...
¢ asemicolon

¢ acoordinating conjunction
¢ atransition

Independent Clause + Coordinator + independent

Claus
Ysing a Semicolch
f ——

Independent Clause @Independent Clause

JS Ol (o (it umwkﬁu.b GFaI A Aranal) dlaal)
but 4alSy par ae drsay Jolig Jad o (g 5iad dlaa

Lihaia Adasi pal) Cplitece (aiy alaal) DA (pe paa dlaad) Jay dligay
v pldily

; Al g8la ALald Y

Aol gda oSlg SS9 but.and . or ciball Ciga Baud Y
Sy v

Aliiewa Jayd + oY) B 03 9o gal) AN (o ()98 (B + Allioia bl

Azaaall Alaall Jualdl) Liaadciu Ly
ALaldl) agin Jay iy Jadll g Jelb lo g giad cpiilaad) Badli Lag
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Using a Coordinating Conjunction

mmeshow
(} “.&ﬂ. l

MC&: Clause

A

Coordinating Conjunctions

Logical Relationship

CAdditiJn )
Contrast But, yet

Choice (\r: @

Cause @

T OB

Coordinating
Conjunction

G

Coordinators (Coordinating Conjunctions)

To add a reason

for l Japanese people live longer than most other nationalities, for they eat healthful diets.

To add a similar, equal idea

and ] They eat a lot of fish and vegetables, and they eat lightly.

To add a negative equal idea

nor They do not eat a lot of red meat, nor do they eat many dairy products.

Note: Nor means “and not." It joins two negative independent clauses. Notice that question word
order is used after nor.

To add an opposite idea

but ] Diet is one factor in how long people live, but it is not the only factor.

To add an alternative possibility

or I However, people should limit the amount of animal fat in their diets, or they risk getting heart disease.

To add an unexpected or surprising continuation

yet Cigarette smoking is a factor in longevity, yet Japanese and other long-lived Asians have a very high
rate of tobacco use.

To add an expected result

S0 Doctors say that stress is another longevity factor, so try to avoid stress if you wish to live a longer life

Gaeaill) Cilanl) Ci g a aladiuly

Siiewal) Japidl g ciband) g A (aeadil) g Jiuall o i)

Aaga (A g 50 J dlald Cilaall (i jally Baads

bl Gyl (A Jand) G da 5 Gy ol (A cibaad) g a Gaal)
Jaadl O 01l (Bl

2 couldn,t 4alS Jia bl oo Al Al gY) Alaad) cuilS 1) (day
decided AalS Jia dalall 0s85 s AY) dleall o

cibaall Cig A 0
LRl 4l
AN 451N
Graad) dag)

Aaiil) dcaldl)

cuad) 30N For
galida ) 4 glucia 5 S8 A8UY And
g gluiia dnli o S8 8BY Nor
dusSlaa o Sk 48USY Byt
Al 4isle A8UY  Or
Ul ddalia g Aabgia @ dBLSY Yet

4ad gial) dail) iUy S0
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There are 7 coordinators: FANBOYS

Another way to remembertheseis...

! CAUTION

Do NOT use a comma every time you use the words and, or,
but, nor, for, so, yet. Use a comma only when the
.coordinating conjunction joins two independent clauses

ENETT

The necklace was beautiful, but expensive.

B
y

|

A3 w@wuﬁhd@\yMthﬁM
dalS JS Ay e cllaal) g all Jlald) A 9 FANBOYS

ldds
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Remember that an dependent lause by el i 2 complete senence. but  depend-

entcaase by sl s am incomplet sotence. e ndep. e 0 the complete g
O e e hem W . e e ompee s
The st o bave e done for you o5 campes.

i | Gotazaoon easdmoe v sesoen o o,

spiy e rge 1 s 3 g LS

g oueys g e e e, e o'
e cock s e

Ui Yorsome resson, rve from west 10 ast causes et g
than travel from eat 10 west

7. Also, changes in work schedules can cause jet lag

8. When hospital nurses change from a day shift to a night shift,

for example
9. Although there is no sure way to prevent jet lag
10. There are some ways to minimize it

11. Because jet lag is caused at least partially by loss of sleep, not

Just a change in the time of sleep

12. A traveler should plan to arrive at his or her destination as late

as possible

13. Upon arriving, he or she should immediately go to bed
14. Then the traveler should start to live in the new time zone

immediately

15. Even when the traveler arrives early in the morning and cannot

£0 to bed immediately

Jeldg Jad Jo 593y 4 jndependent Jiia

x335 Subordinators (« &ilS 44y 4N dependent Jiiua & ¥
Ul sl g Las Jihsa &

Jeldy Jad o 5 g0y 4 independent JEiua ¥

GlalS (e @ils A4la AN dependent Jiiwa & ¢

Subordinators

independent Jiiwa ©

independent Jiiwa

independent Jiiwa V

cilalS e @ils 44ly 4 dependent Jiiwa & A
when 29 Subordinators

clalS e cils 44ly 4N dependent Jiiwa & 4
although (2 Subordinators

independent Jiiwa V.

GlalS e @ils 44)y 4N dependent Jiiws £ V)
because s Subordinators

independent J&iwa VY

independent Jiiwa VY

independent Jiiwa V¢

ClalS e il A4ly 4N dependent Jiiaa & Vo
when &y Subordinators

Homework

Practice 4, pages, 167, 168

Practice 5, page 170

Practice 4 pages, 167, 168

Compound sentences with coordinators

A. Form compound sentences by adding another independent clause to the following
independent clauses. Be sure to write a complete clause containing a subject and a verb.

Circle the coordinator and add punctuation.

1. The college campus is located in the center of the city, so it is very easy to get there by

public transportation.
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2. According to the Big Bang Theory, the universe began expanding about 13.7 billion
years ago, and it has been expanding every since.

3. Does the universe have an outer edge, or is it infinite?

4. Scientists predict that intelligent life exists somewhere in the universe, but we have not
been able to find any sign of it yet.

5. Mars probes have photographed rocks with water markings on them, yet there is no
water there now.

6. We may not be able to communicate with other life forms, for we will not know their
language.

7. Instead of taking the psychology final exam, we can write a ten-page research paper, or
we can give a presentation.

8. I want to write a research paper, yet | do not know what to write about.

9. Three weeks before the end of the term, | had not started my paper, nor had | even
chosen a topic.

10. I needed help choosing a topic, so | went to the professor to ask for suggestions.

B. For each pair of the following sentences form a compound sentence by joining the
two independent clauses with a coordinator that best fits the meaning. Use each FAN
BOYS coordinator once. Write your new sentences on a separate sheet of paper, and
punctuate them correctly.

1. Nuclear accidents can happen. Nuclear power plants must have strict safety controls.

» Nuclear accidents can happen, so nuclear power plants must have strict safety
controls.

2. The accident at the nuclear power plant at Three Mile Island in the United States
created fears about the safety of this energy source. The disaster at Chernobyl in the
former Soviet Union confirmed them.

» The accident at the nuclear power plant at Three Mile Island in the United States
created fears about the safety of this energy source, and the disaster at Chernobyl in the
former Soviet Union confirmed them.

3. Solar heating systems are economical to operate. The cost of installation is very high.

» Solar heating systems are economical to operate, but the cost of installation is very
high.
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4. Energy needs are not going to decrease. Energy sources are not going to increase. (Use
nor and question word order in the second clause, deleting the word not).

> Energy needs are not going to decrease, nor are energy sources going to increase.

5. Burning fossil fuels causes serious damage to our planet. We need to develop other
sources of energy.

» Burning fossil fuels causes serious damage to our planet, so we need to develop other
sources of energy.

6. Ecologists know that burning fossil fuels causes holes in the ozone layer. People
continue to do it.

> Ecologists know that burning fossil fuels causes holes in the ozone layer, yet people
continue to do it.

7. Developing nations especially will continue this harmful practice. They do not have the
money to develop "clean™ energy sources.

> Developing nations especially will continue this harmful practice, for they do not
have the money to develop "clean™ energy sources.

8. All nations of the world must take action. Our children and grandchildren will suffer
the consequences.

> All nations of the world must take action, or Our children and grandchildren will
suffer the consequences.

Practice 5, page 170

Compound Sentences with Conjunctive adverbs

A. Form compound sentences by adding a second independent clause to each
independent clause. Be sure to add a complete clause containing a subject and a
verb. Circle the conjunctive adverb and add punctuation.

1. The college campus is located in the center of the city ; therefore , it is very easy to get
there by public transportation.

2. According to the Big Bang Theory, the universe began expanding about 13.7 billion
years ago; moreover , it has been expanding every since.

3. Students must pay their tuition and fees before they register for classes; otherwise ,
they will have to pay a late fee.

4. Scientists predict that intelligent life exists somewhere in the universe; however , we
have not been able to find any sign of it yet.

5. Mars probes have photographed rocks with water markings on them; nevertheless ,
there is no water there now.

6. My roommate scored high on the English placement test ; as a result , he is exempt
from taking English classes.
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7. Tuition and fees increase every year ; for example , tuition this year is $50 more per
unit than it was last year.

8. The class thought the teacher would give a test last Friday ; instead , she gave a party.

B. Using conjunctive adverbs instead of coordinators. Punctuate your new sentences
correctly.

1. Nuclear accidents can happen. Nuclear power plants must have strict safety controls.

> Nuclear accidents can happen; therefore, nuclear power plants must have strict
safety controls.

2. Solar heating systems are economical to operate. The cost of installation is very high.

» Solar heating systems are economical to operate; however, the cost of installation is
very high.

3. Burning fossil fuels causes serious damage to our planet. We need to develop other
sources of energy.

> Burning fossil fuels causes serious damage to our planet; therefore, we need to
develop other sources of energy.

4. Ecologists know that burning fossil fuels causes holes in the ozone layer. People
continue to do it.

» Ecologists know that burning fossil fuels causes holes in the ozone layer;
nevertheless, people continue to do it.

5. All nations of the world must take action. Our children and grandchildren will suffer
the consequences.

> All nations of the world must take action; otherwise, our children and grandchildren
will suffer the consequences.

o _pilald) o ylalaall
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Elements of the Class
- Complex Sentences

- With adverb clause

- With adjective clause

- With noun Clauses

Complex Sentences

~Acomplex sentence contains at feast one-independent ——

clause and one dependent clause.

A complex sentence contains a
clause an dependent clause;
She@o school in the city
R Independent Clause

e finds a job.

Dependent Clause
e
P N

Buinall Jand)

independent Jiiwa ) g b i o o giay Sabnal) dlagdl
Subject + Verb (+ complement) L s2=l)

dependent Jiiwa & hyd e
Subordinators + subject + verb (+ complement) ¢ s &)

odinall dlaall a8l (yudi 5 A0 Jiaoda g
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Use a comma after a dependent clause if it
begins the sentence

Complex Sentences

sentence.

| first moved

i@ubmmmmmm

Y s,

SR
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A complex sentence contains one independent clause and one (or more) dependent
clause(s). In a complex sentence, one idea is generally more important than the
other. We place the more important idea in the independent clause and the less
important idea in the dependent clause.

There are three kinds of dependent clauses: adverb, adjective, and noun. You will
study all of these kinds of clauses in greater detail in Chapters 12, 13, and 14.

Complex Sentences with Adverb Clauses

An adverb clause acts like an adverb; that is, it tells where, when, why, and how. An
adverb clause begins with a subordinator, such as when, while, because, although,
if, so, or that. It can come before or after an independent clause.

DEPENDENT ADVERB CLAUSE INDEPENDENT CLAUSE

1 |
lA\though women in the United States could own property, |they could not vote until 1920.

%INDEPENDENT CLAUSE 17 DEPENDENT ADVERB CLAUSEﬁ
A citizen can vote in the United States when he or she is 18 years old.

Complex Sentences with Adjective Clauses °
An adjective clause acts like an adjective; that is, it describes a noun or pronoun.
An adjective clause begins with a relative pronoun, such as who, whom, which,
whose, or that, or with a relative adverb, such as where or when. It follows the noun
or pronoun it describes.

DEPENDENT
ADJECTIVE CLAUSE
Men who are not married are called bachelors.

R DEPENDENT ADJECTIVE CLAUSE e
Last year we vacationed in Cozumel, which features excellent scuba diving.

Complex Sentences with Noun Clauses
A noun clause begins with a wh- question word, that, whether, and sometimes if. A noun
clause acts like a noun; it can be either the subject or an object of the independent clause.

DEPENDENT NOUN CLAUSE

‘That there is a hole in the ozone layer of Earth’s a’(mospherel is well known.

DEPENDENT
NOUN CLAUSE

Scientists know what caused it.

In the first example, That there is a hole in the ozone layer of Earth’s atmosphere is
the subject of the verb is. In the second example, what caused it is the object of the
verb know.

4\,3&.9}‘}5‘)(;@_46 u\}mds‘_godpﬂ\i\wg\

complex sentences with Adjective clauses
adjective clause begins with a relative pronoun, such as who, whom, which, whose, or
that or with a relative adverb

complex sentences with Noun clauses
begins with a wh-question word, that, whether, and sometimes
complex sentences with adverb clauses

An adverb clause begins with a subordinator, such as when, while, because, although,
if, so, or that.
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Conjunctive Adverbs

To add a similar, equal idea

also Community colleges offer preparation for many occupations; also/besides/furthermore/
besides in addition/moreover, they prepare students to transfer to a four-year college or university.
furthermore
in addition
moreover
as well Community colleges offer preparation for many occupations; they prepare students to transfer
to a four-year college or university as well.
too Community colleges offer preparation for many occupations; they prepare students to transfer
to a four-year college or university, too.
To add an unexpected or surprising continuation
however The cost of attending a community college is low; however/nevertheless/nonetheless/still,
nevertheless many students need financial aid.
nonetheless
still

To add a complete contrast

on the other hand

Tuition at a community college is low; on the other hand/in contrast, tuition at private

in contrast schools is high.
To give an alternative possibility
otherwise Students must take final exams; otherwise, they will receive a grade of Incomplete.
To add an expected result
accordingly Native and nonnative English speakers have different needs; accordingly/as a result/
as a result consequently/hence/therefore/thus, most schools provide separate English classes for
consequently each group.
hence
therefore
thus
To add an example
for example Most colleges now have a writing requirement for graduation; for example/for instance,
for instance students at my college must pass a writing test before they register for their final semester.

adﬁféﬂ\ﬁwg\uydm\jﬂ\wmmy} Mloua);)}ﬁﬂ\jJ}Aﬂ\(@g_A VY
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Relationship Transition
Addition Moreover
Furthermore
In addition
besides
Contrast However On the contrary
In contrast On the other hand
Result or Effect Consequently Accordingly
Thus Hence
Therefore As a result
Reinforcement/Emphasis | Indeed
In fact
Relationship Transition
Exemplification For example
For instance
In particular

Time

Meanwhile (at the same time)
Subsequently (after)
Thereafter (after)

Step 1 Underline the independent clause of each sentence

with a solid line.

Step 2 Underline the dependent clause with a broken line.
One sentence has two dependent clauses.

Step 3 Write Sub. Abo

ve the subordinator. Refer to the

list of subordinators on page 163.
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[

Sub

Sub

Sub

Sub

Sub

9. Even though students declare a major now. they can change it later.

Sub

Sub Sub

oSl il y WSsub  Lede 5S35 subordinators ahtie bad o< Jiiue yaally Juaie Jad Jiil)

B. Step1 Add alogical independent clause to each of the dependent clauses.
Step 2 Punctuate each sentence correctly.

I cannot register for classes until I pay my tuition.

Unless I take 12 units each term , I am not a full-time student.
My adviser told me _ that computer engineering is a popular major.
Do you know __who taught this course last term?

L have to leave home at 6:00 in the morning if I want to get to school on time.
My math teacher will tell me whether I should take advanced calculus.

This is my new friend john, whom I met at the math club meeting last month.

. When I left my country_, I felt both sad and exited.
0. I will take the classes| that my college adviser recommends.

1
2
3
4
5. Because I had to look for a part-time job_, I could not take as many classes as I wanted to.
6
7
8
9
1
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Step 1 Underline the independent clauses with a solid line and the dependent clauses with a broken line.
Step 2 Add commas and/or semicolons as necessary.

Ql. Information and communication technology is reaching out to help people in the poorest countries
improve their lives for example fishermen on the Bay of Bengal can now receive online weather

reports that tell them when it is safe to go out.

» Information and communication technology is reaching out to help people in the poorest countries

improve their lives; for example, fishermen on the Bay of Bengal can now receive online weather

Q2. Furthermore, when the fishermen bring in a boatload of fish they can find out the current market
prices for their fish, which will help them bargain with the middlemen to whom they sell their catch.

Q3. The cost of the cheapest computer is at least $200 and since this is more than an individual fisherman
can afford several fishing villages together can pool their money and buy one to share.

Q4. The worldwide reach of the Internet is also providing employment opportunities in developing
countries and as greater numbers of people learn the technology these opportunities will expand.

» The worldwide reach of the Internet 1s also providing employment opportunities in developing

Q5. When you call your U.S. bank you may find yourself speaking to a customer service representative
who is sitting in the Philippines or Puerto Rico and when you need technical support for your home
computer you will probably get help from a programmer in New Delhi.

computer, you will probably get help from a programmer in New Delhi|

43S 9 Al dan ) g aSule aSlud)
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fWhat's Parallelism

Conjunctions

fWhat is parallelism in grammar

The best way to understand the idea of parallelism is to look
at examples

What is parallelism in grammar?

The best way to understand the idea of
parallelism is to look at examples.

For example:

(Not parallel)

We wanted Lg_,rgok 0 g0 swimm
(Parallel)

~
e

We wanted jo cook and to swim.

What is parallelism?

Parallelism means using similar structures to express
similar ideas.

Parallel structures make sentences clearer and easier to
read.

Editing for parallel structure helps you avoid awkward
sentences and keeps you from breaking your promise to
the reader.

Using parallel structure in your writing will help
with

1) economy
2) clarity

3) equality
4) delight.
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Example:

L4580

[ like to wrte.

|Vl

Ihkwnte @ ead and

tud\' grammar.

[ ke wntng, reading; and study

Now you try. Which sentence is parallel?

o This semester|'m studyingart, music, and math. -

Use parallel structure with elements

in lists or in a series. / i&&/

0 This semester I'm studying art, music, and math course.

Fauly. Thembesefrphasnzed sumvd ku%‘dad Wr«
one anather. paralle paralle

Corect: The tribes emphasized collective survival, mutual aid and rgspansibiit for
one another

paralel  parallel paralle
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How Can we make a paralleled
structure?

Use parallel structure with elements joined by

What is a Conjunction?

A conjunction is like glue. It helps things to stick
together.

b (ol 5 3Y) ALaa) b 3 gy (805 Asamd L 339 J¥) JEial
are o is Alaal) (udi b (alad dapal
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g i (Al g cJaadly e jlaadl g clalsl) Jay )b cibaadl conjunction
object + Subject + Verb + complement $2 clauses

clauses 3 conjunction st oyl cilaall (s GO AGh ay

Lebad Ay
A conjunction joins words, phrases, and sentences,
A{hich are called clauses. :
¥
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What is a Conjunction?

Conjunctions join two or more words.

Example: | went to the store to buy egg%rgik@
== bread.

What is a Conjunction? 3
i

- : ~
Conjunctions can connect twotfauses or s Ces.

When two sentences are joined, a comma MUST be
placed before the conjunction.

raly 9a LS JS) o) (el clalSt) (p Ay 55 Cilanl
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down the hill and past the trees
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Types of Conjunctions

One type of conjunction is the coordinating conjunction.
They connect words, phrases, and clauses, which are
sentences.

They connect things of equal value.

(This means that they would connect a noun with another
noun or a prepositional phrase with another
prepositional phrase.)

CONJUNCTIONS

Conjunctions are words used as joiners. Different kinds of
conjunctions join different kinds of grammatical
structures.

“AND”

Coordinating conjunctions affect the meaning of
your sentence. :

“And” connects things that are alike or joined
together.

Ex. | want Dopcorn and pizza.

e T }

IlBuT"

Coordinating conjunctions affect the meaning of
our sentence,

‘But”)is used to connect things that are different or
separated.

Ex. | want/popcorn but not@
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HORH

Coordinating conjunctions affect the meaning of

our sentence.
s used to offer a choice.

Ex. Do | want popcorn or pizza?

llNOR”

Coordinating conjunctions affect the meaning of
your sentence.

s used to offer a negative choice.

Ex. @am popcorn nor pizza.

Coordinating conjunctions affect the meaning of
your sentence.

@is used to show a change. When it is used to
combine two sentences, you must put a comma
before it.

Ex. [ want popcorn, yet | alsgwant pizza.

IIORII
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IISO”

Coordinating conjunctions affect the meaning of
your sentence.

@ is used to show a relationship between things.
When it is used to combine two sentences, you
must put a comma before it.

&@@EWI madg some.

HFOR”

Coordinating conjunctions affect the meaning of

r sentence
@is also used to show a relationship between
things. When it is used to combine two sentences,
you must put Scomma before it.

Ex. lordered a pizz?ﬂl was hungry.

Coordinating conjunctions join equals to one another:
- words to words,

- phrases to phrases,

- clauses to clauses

Examples:
wordtoword  Vost chidren ike cookies and mik

praseto prase mmﬂsm@mmn@e__

clause to clause quéd @@mmg'
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Examples:
Correct: | like coffee, butldon't like tea.

Incorrect: But| don't like tea, | like coffee.

:Punctuation with coordinating conjunctions

When a coordinating conjunction joins two words, phrases,
or subordinate clauses, no comma should be placed before
the conjunction

Examples:
words: — cookies and milk
phrases:  af the beach or by the lakeside,

subordinate clauses: whatyou say and what you do

A coordinating conjunction joining three or more words,
phrases, or subordinate clauses creates a series and requires
commas between the elements.

Examples:
words:  peanuits, cookies, and milk

phrases. in the mountaing, at the beach, or by the lakeside.

subordinate clauses: what you think what you say, and what you oo

A coordinating conjunction joining two independent
clauses creates a compound sentence and requires a
comma before the coordinating conjunction

Examples:
Tom ate all the peantts, s Phil ate the cookdes.

| don' care for the beach, but | enjoy a good vacation in the mountains.
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Coordinating conjunctions

Coordinating conjunctions connect grammatically equal elements. Coordinating
conjunctions are sometimes called the “Fan Boys” conjunctions—For, And, Nor,
But, Or, Yet, So.

Conjunction Function Example

for Connects a reason to a result | am a little hungry, for | didn’t
eat breakfast this morning.

and Connects equal similar ideas John likes to fish and hunt.

nor Connects two negative sentences She does not eat meat, nor

does she drink milk.

but Connects equal different ideas | like to eat fish but not
to catch them.

or Connects two equal choices Do you prefer coffee or tea?
yet Connects equal contrasting ideas It is sunny yet cold.
so Connects a result to a reason | did not eat breakfast this

morning, so | am a little hungry.

Paired (correlative) conjunctions

Correlative conjunctions are always in pairs. Like coordinating conjunctions, they
connect grammatically equal elements. (Please also read the section Parallelism on
pages 179-181.)

Calaal) (o 33kal1) o 8)

abiis Jpaal) age Lsad 4 gluia pualic aglai) ccalaall (Gauii Jie gzl 531 3 Laila Ayl jiall Calasl)

#% PAIRED CONJUNCTION

Conjunction pairs example

both_ and Both San Francisco and Sydney have beautiful harbors.

notonly .. but also Japanese food is not only delicious to eat but also beautiful to look at.

B Bring either a raincoat or an umbrella when you visit Seattle.

T E— My grandfather could neither read nor write, but he was a very wise person.

The newlyweds could not decide whether to live with her parents or o rent
whether ... or an apartment
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These pairs of conjunctions require
equal (parallel) structures after each
one.

e L4

Faulty#Clara not mweimm

N

m
Correct: Clara wants notf only money but ziso fame.
——

" Vi
Correct: Clara not only wants money but aiso wants fame

+ V2 \/ &

Jad A3y 40 ga 2 Y J ) JUiall g aa) g JS ra JSLa (431 sal) B ghesal) il cilaal) e ) 938 038
ogall A all il g LaS Jabg Jad ) g anal g amid (5 AY) ALiaY) L) anid g

The curtains were pulled shut. The school was empty.
» The curtains were pulled shut, and the school was empty.
2. Alvin has always lived in the city. His parents bought a home in the suburbs.

» Alvin has always lived in the city, yet his parents bought a home in the
suburbs.

3. Biggie Molar has a toothache. He will see the dentist, Dr. I. Yankum.

» Biggie Molar has a toothache, so he will see the dentist, Dr. I. Yankum.
4. Carmelo received a new Mini Cooper. He passed all his subjects with A’s.

» Carmelo received a new Mini Cooper, for he passed all his subjects with A’s.
5. Rod Ketchum worked in the city sewer system. He attended night school.

» Rod Ketchum worked in the city sewer system, but he attended night school.
6. | may take a trip to Mt. Rushmore. | may stay home.

» | may take a trip to Mt. Rushmore, or | may stay home
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More Exercises
1. The boys were given five detentions each. They had cut Mr. Atom’s science class.

» The boys were given five detentions, for they had cut Mr. Atom’s science
class.

2. | had a chance to buy a ten speed racer. | decided on buying an ATV instead.

» | had a chance to buy a ten speed racer, but | decided on buying an ATV
instead.

3. Bike riding enables me to see the sights of the city. It allows me to lose weight.

> Bike riding enables me to see the sights of the city, and it allows me to lose
weight.

4. The canoe was old and leaky. We won the race.
» The canoe was old and leaky, yet we won the race.
5. The girls had never played on the team before. They won the first game of the season.

» The girls had never played on the same team before, but they won the first
game of the season.

6. He was bigger and stronger than I. I let him kick sand in my face.
» He was bigger and stronger than I, so | let him kick sand in my face.
7. Girls are weaker than boys. Boys are putty in their hands.

» Girls are weaker than boys, yet boys are putty in their hands.
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